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SECTION A (25 X 2 marks)
For each guestion from 1 to 25, four options are given. One of them is the correct answer. Make
your choice (1, 2, 3 or 4). Shade the correct oval on the Optical Answer Sheet.

1. The diagram below shows a process in the human reproduction systen.

sperm

egg

Which one of the following statements about the process of human reproduction is correct?

(1) One egg is fertilised by many sperms.

(2) Pollination occurs before the fertilisation of the egg.

(3) The foetus will develop in the womb for nine months.

(4) The male reproductive cell will fuse with the female reproductive cell in the womb.



2. The table below shows some physical characteristics of Mr and Mrs Ben and their four children.
A tick (v') shows the presence of the characteristics.

Short hair Curly hair Dimples " Attached earlobes
MrBen | v R4 ' g S
Mrs.Ben v
Alex v
Billy v v v
Cindy ' v v
Elly v v

“Based on the information above, which of the following statement(s) is/are 8éfinitely correct?

A

B

Cc

D
(1) Conly
(2) AandBonly
(3) BandConly
{4) A, CandD only

Cindy and Elly are a pair of twins.:
Billy and Alex inherited the short hair from Mr Ben.
Billy did not inherit any physical characteristics from Mrs Ben.

Cindy and Elly each inherited more than two physical characteristics from Mrs Ben.

3. The cycle below show the stages of the growth of a plant. |

Adult plant with fruits

Seed

~

Seedling

Adult plant

Which of the following represents the stages correctly?

X Y Z
() Dispersal Germination Fertilisation
@) Fertilisation Dispersal Germination
@) | Germination Fertilisation ~ Dispersal
4) | Germination Dispersal Fertilisation

2
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4.

The chart below shows classification of some living things.

Living things

L

Staghorn fern
Mushroorh
Bracket fungus

Hibiscus plant
Apple tree:
Balsam plant

Which of the following is the most suitable headings for L:and M?

M
2
&)
@)

L

M

Inedible

Edible

Non-flowering plants

Flowering plants

Non-green plants

Green plants

Reproduce from seeds

Reproduce from spores

Study the diagram below.

~

Oxygen |

.
(4
..
.
-
‘e

B

Carbon dioxide*

. 7 | S

Which pair of arrows shows the exchange of gases during respiration correctly?

e)
(2
()
(4)

Aand B
Aand C
Aand D
CandD
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6.  Study the flow chart about different parts P, Q, R and S in human digestive system below.

Organs

Does digestion-
takes place?

absorbed from
the undigested
food?

Is digested food

absorbed into the No
bloodstrearh —> R
through its thjn b
membrane wall?

Which of the following best represents P, Q, R and S respectively?

Is excess water

g

P Q R S
(1) Anus Large intestine Mouth Small intestine
) Gullet Mouth Small intestine | Large intestine
(3) Mouth Small intestine Stomach Small intestine
() Lérge fntestine Small intestihe Stomach Mouth




7.  The experimental set-up below was placed beside an open window during a sunny.and-bright.

day.
air entering to pump-
—— SRR
substance X to
absorb carbon

dioxide

fﬁtﬁz-:w

A B

Which of the following pairs shows the gases that enter and leave container B?

Entering -Leaving
(1) Oxygen, carbon dioxide Oxygen, water vapour
{2) Oxygen, water vapour ‘Oxygen, water vapour

(3) { Oxygen, carbon dioxide, water vapour | Oxygen, carbon dioxide, water vapour

(4) | Oxygen, carbon dioxide, water vapour Oxygen, water vapour
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) S'e't-upv X shows how sand is separated f_rbm water using filter péper.'"'Thevﬁlter paper only allows
some substances to pass through it.

sand and water

filter paper
funnel

[}
water

Plant}cell R : - Set-up X

Which part of the plant cell has the same function as the ﬁltér"’paper in sef-up X?

1 A
o) B
3 C

@ D

o - ANAD TIE OAND CAlrman



9. The diagram below shows the human respiratory system with parts labelled A and B.

Which one of the following correctly states the functions of A and B during breathing?

A B

(1) | Controls the types of gases that enter

the lungs Controls the rate of breathing

(2) | Enables us to detect.-smell Prevents the ribcage from collapsing

3

Takes in oxygen and remove carbon

Filters the air before it enters the lungs dioxide

(4) | Leads air in and out of the respiratory

system Makes the chest cavity air-tight

7 2N18 PR QA2 Qeriance



10:  The diagram below shows how blood flows through the blood vessels from P to Q.

lungs

A

heart

other parts of body |,

Which of the following best describe the diffefences between the blood at blood vessels. P and
Q?

Blood at P Blood at Q
more oxygen less oxygen
less carbon dioxide more carbon dioxide

 less waste materials more waste materials

ololw|>»

more digested food | less digested food

(1) AandC only
(2) BandD only
(3) A,BandConly
(4) AB,CandD
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11. Mary took plant X from the garden and placed in a container filled with water as shown below.

1

28

swollen stem

= - water

e

Plant X

Mary noticed that plant X in her garden grew more healthily but plant X left in the living room-
withered in a month.

Which of the following is/are the reason(s) for her observation?

A There was insufficient mineral salts present in the water to be absorbed by the
roots of the plant X.

B  There was insufficient light present in the room for the leaves of the plant to make
food. e

C The stem of plant X became swollen and couid not transport water from the
roots to the leaves.

(1) Conly

(2) AandBonly
(3) AandC only
(40 A.BandC

9 ' 2018 P5 SA2 Scienca



12. Peter placed a celery stalk as shown in the picture below. The two glasses had different
coloured water, one red and the other blue. After half an hour, he cut across the stalks at
positions X, Y and Z, as shown in the diagram below.

red coloured water blue coloured water

He noticed that the cross-sections cut at X, Y and Z had different coloured dots.

coloured dots

Cross-section’of celery stalk

Which of the following shows the possible colour dots observed at parts X, Y and Z of the

stem?
X Y Z
(1) All red All blue Some red and some blue
(2) Allblue - All red All purple ;
(3) All purple All purple Some red and some blue
(4) All red All blue ' All purple

e e e e a aa aw



13. The graph below shows the melting point and boiling point of Substance A.

Temperature/°C
A

100 —t-rm-cmmmemmmmn— e
80 -
60

40

20 -

»
-

Time /min

Which one of the following statements about the graph above is'not correct?

(1) Substance A is a solid at 10 °C.

(2) Substance A is a liquid at 80 °C.

(3) The melting point of substance A is 0°C.
(4) The boiling point of substance A is 100°C.-

11 2018 P5 SA2 Science



14. Siti left a block of ice in a beaker on an electronic weighing scale in the kitchen as shown
below.

= wassid
beaker

block of ice

weighing scale /

Which of the following statement(s) is/are the most likely observation(s) when the block of ice
was left on the weighing scale for five minutes?

A Water droplets are formed on the underside of the lid.
B Water droplets are formed on the outside of the beaker.
C The reading in the weighing scale shows more than 200g.

(1) Aonly

(2) Bonly

(3) BandConly
4 A,BandC
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15.  When object U is placed in front of a light source, Peter observed a circular shadow
formed on the screen. '

Torch Object U

screen

Which one of the following actions will have a bigger shadow be cast on the screep?

(1}  Move the torch nearer to object U
(2} Move the screen nearer to object U.
(3) Move the torch further from object U.
(4) Move object U further from the torch.

AD Amam L maa = -



16.  Ali cut out a circular shape from a wooden block and a triangular shape froma

clear piastic block as shown below.

5cm

wodden block

5cm

233
plastic block

He glued the two blocks together and a lamp with blue light was brought near the

two blocks which were glued together*as shown in the diagram below.

i

plastic wooden

lamp -

block block

screen

Which one of the following is most likely to be the shadow formed on the screen?

(1)

blue

—— black

blue

.'-. -t~ black

Y. Yy LY . ..y



17.  Which one of the following.diagram explains why Judy can see the book on the table
when the lamp is switched on?*

15 2018 P5 SA2 Science



18.

Joseph placed a bowl of ice-cream on the table.. After three minutes, he observed his
ice-cream melting slowly.

ice cream

Which of the following correctly shows the transfer of heat between the ice-cream and the

surrounding air?

Surrounding air lce-cream
1) gains heat gains heat
(2) gains heat loses heat
(3) loses heat loses heat
(4) loses heat gains heat

AP



19.  Winson conducted an experiment using two containers, R and S, made of different
materials: He placed an equal amount of water, at 5°C in.each container as shown
below. He used a hot plate to heat the two containers of water to boiling point.

Container R

Container S

100 miof ~
water —E
at 5°C

hot plte ‘\\\\\\ -\\\\\\\\\\\\\\\\

He measured the time taken for the water in each container to reach boiling point and

recorded the readings in the table below.-

Container Time Taken (s)
R 70
S 120

Based on the information above, which of the following statement(s) is/are correct?

A
B

C.

n
(2)
3)
(4)

Container R is a poorer conductor of heat than container S.

The water in container S gained heat from the hot plate more slowly than the

water in container R.

The water in both containers would have the same amount of heat energy at

boiling point.

A only

B only

B and C only
A, B and C only

17
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20. Mrs Wong set-up an experiment as shown below.

glass tube

rubber stopper

e e et oy

——— s o]

drop of ink

flask

basin of hot water

Which of the following statements correctly shows the observation and explanation of
what happen to the drop of ink after the flask was placed in the basin of hot water?

(M
)
3)

4)

Observation

Explanation

The drop of ink will rise.

The air in the flask loses heat to the basin of
hot water and expands and pushes the drop
of ink upwards.

The drop of ink will rise.

The air in the flask gains heat from the basin
of hot water and expands and pushes the
drop of ink upwards.

The drop of ink will drop.

The air in the glass tube contracts and loses
heat to the basin of hot water and pushes
the drop of ink downwards.

The drop of ink will drop.

The air in the flask and glass tube expands
and gains heat from the basin of hot water

and pushes the drop of ink downwards.




21.  Mary placed points X and.Y of the circuit tester shown below on different points 1, 2, 3, 4
and 5 of a circuit card. She observed if the bulb lit up and recorded her observations:

5
i ® X 1\\ \k<2

oY 3 ; < 4
Circuit Tester

Circuit Card
ct:,n‘;iancttsv:f?th Bulb lit up Bul:g ::::m
circuit tester

A 1and 5 v
B 1 and 2 P
C 3and4 v
D 5and 3 v

Which of the following are correct observations:-made by Mary?

(1) A and D only
(2) B and C only
(3) A, C and D only
4 A, B and D only

19 2018 P5 SA2 Science



22. The diagram below shows an electrical circuit.

-~

What is the minimum number of switches.which need(s) to be closed to light uponly two

bulbs?

4)) One
(2) Two
(3) Three

(4 . Four

A P DAY O o e o



23.  Adam set up four circuits, P, Q, R and S, using identical batteries, bulbs and
wires. ' ‘

—H— i

e —

Circuit P Circuit Q

il —i—

-0 oo

Circuit R Circuit S

The following statemér;ts are made about the circuits abové.
A The bulb in circuit P is the brightest.
B The bulbs in circuit P and R have the same brightness.
C The bulbs in circuit Q are brighter than the bulbs in circuit S.
. D The bulbs in circuit S are Iesg bright than the bulbs in circuit R and Q.

Which of the following statements is/are incorrect?
(1) A only

(2) B only

(3) A and B only

4) A, Cand D only

21 2018 P5 SA? Srienre



24. Five bar magnets are placed together and their poles are marked as shown in
the diagram below.

A

Which of the following diagrams shows the correct interaction when three of the bar

magnets from the above set-up are brought cloge together?

(1)

3)

= -

J

.S

()

(4)

C

F

L L e 2 ma am =



25.

Devi hung four objects, A, B, C and D, on a wooden rod. The diagram shows what she
observed.

& b 4

She then exchanged the positions of B and C. The diagram below shows her new
observation.

O

=) ()

Which of the following correctly describes the objects?

Object A Object B Object C Object D
(1) magnetic magnetic magnetic magnet
material | material material
2) magnet magnet magnetic magnetic
material material
(3) magnetic magnet magnet non magnetic N
material ' material
(4) magnetic magnetic magnet non magnetic
material material material

23 2018 P5 SA2 Science






Name: __ Index No: Class: P5 , 40

SECTION B (40 marks)
For guestions 26 to 38, write your answers clearly in the spaces provided.

The number of marks is shown in brackets [ ] at the end of each question or part question.

26. The diagram below shows the parts of the plant and female reproductive systems
respectively.

Plant reproductive system Female reproductive system

(a) Identify the part labelled Z and state its function.

(b) Identify the parts where the male reproductive cell fuses with the female
reproductive cell in the plant and female reproductive system respectively. [2]

(i) Plant reproductive system:

(i) Female reproductive system:

‘SCORE
3
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Cheryl carried out an experiment using three different types of seeds. She took
some seeds of each type, mixed them together and placed them on a table in
front of a fan. After some time, she counted the number of each type of seed in

each of the sections marked 1, 2 and 3.

27.

Mixture Section 1 Section 2 Section 3
of seeds /7 / 7
/ /7 Ve
,/ // //
g 7 sta!rtmg y; ,
7 point /7 Y
Her results were recorded in the table below.
Number of seeds
Type of | Average Number of Section 1 | Section 2 | Section 3
seeds mass of seeds at
seed (g) | starting point
A 1 10 0 1 9
B 1.6 10 2 8 0
C 2.1 10 0 0 0

(a)

Based on the results froni the experiment, what is the relationship between
the mass of the seed and the distance travelled by the seed? -

[

(b) Identify the type(s) of seeds that is/are more likely dispersed. by wind.

(1l

()

Lo 7 =4

What should Cheryl do to ensure her results are reliable? [1]
SCORE
3
2018 P5 SA2 Science



28. Sarah prepared four set-ups, A, B, C and D, using identical plants. The pots are filled
with the same type of soil to their brims.

aluminium foil
covering the
mouth of the pot

aluminium foil
covering the
mouth of the
pot

Cc

Sarah wanted to };\vesﬁgate how the number of leaves affected the rate of water
loss by the plant over a week.

(a) Which two set-ups should Sarah use to conduct a fair test?

(b) What should Sarah measure in order to find out how the number of leaves
affected the rate of water loss by the plant? [1

SCORE

Continue on next pége )
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Continued from previous page.

(c) What is the purpose of covering the rﬁouth of the pot with én aluminium foil? [1]

29, Thé diagram below shows a skeletal system.

(a)

(b)
()

(ii)

Name the following parts in the skeletal system. [1]
Part A: o |
Part B:
State two functions of the skeletal system. | 2]
SCORE
4
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30. Sam was provided with pictures of two different types of cells as shown below.

S
Cell A Cell B

(a) Based on the observation above, state two differences that will enable Sam to
identify the plant cell. 2]

{b) In the diagram above, label and name the pait that carrles genetic material in
cell B. 1

31.  The flowchart below shows the respiratory system in both fish and humans.
Complete the chatt by filling in the boxes below using the correct organs.  [2]

Gaseous Exchange

in ‘ in
Fish Man
takes place in the takes place in the
| | A SCORE

.‘5

| 28 2018 P5 SA2 Science
i



32. The graph below show the breathing rate and heart rate of a man who started
running. '

Breathing rate ~ Heart rate

A 4

v

Time Time

(a) Based on the graphs above, what is the relationship between the breathing réte

and heart rate of the man? 1]

(b)  Explain the increase in his heart rate while he is running. / [2]
SCORE

3
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33. Look at Diagram A as shown below.

Diégram A

(a) Draw arrows in Diagram A above to show the direction in which water is
transported in plant. [11

Diagram B below shows the transport system of an animal.

4

lungs

heart

Other parts of the body .

Diagram B

({b) Based on the information in Diagrams A and B, state a difference in the
direction between the transport of water in an animal and in a plant.  [1]

SCORE
2
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34.  Mary conducted the experiment as showri below. A small nng of the outer layer of
the stem in set—up B has been removed

blue
coloured
water

- Both set-ups were placed in an open field. After two days, Mary observed swellmg
- only above the ring of the stematZin set-up B as shown below.

layer
of oil

~ blue-
coloured
water.

set-up B

Based on the information above, answer the following questions.
(@) Explain the presence of the swelling above the ring of the stem in set-up B. [1]

SCORE

Continue on next page
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Confinued from previous page

(b)  Would Mary observe any changes to the flowers in both set-ups A and B after two
days? Explain your answer. - [2]

Tiffany wanted to collect some pure water from the seawater. She set up an

experiment using the given apparatus. The diagram below shows her observation
after fifteen minutes.

stopper N bent tube
) cold, damp cloth
boiling — A "
ibe =] o beaker
. seawater o
? Z=T==—F pure water
heat

(a) What would be feft in the boiling tube after all the water has been boiled
completely? {11

(b) What are the two important processes that must have taken place for pure
water to be collected? 121

@
-G

(c) Suggest two ways she could make to the set-up above in order to collect more '
water within fifteen minutes of her experiment? {2}

0]
(ii)

SCORE
7
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36.

- Continue on next page

Fariq used a datalogger to measure th_e.amount of light that passed through

different types of materials, D, E and F. The amount of light from the torch is 1000
lux. He set up the experiment in a dark room as shown in the diagram below.

datalogger

IIIIIIIIIIIINY

AA LA A

He ret:otded the results in the table below

Materials Amount of light detected (lux) .
D 550 = _

E B 0

F - 156

(@) Based on the results, which material is most suitable to be used to make
curtains to blpck out light completely? Give a reason for your answer. [1]

- (b) - Suggest a reason why the amount of light detected by each material is

different. ‘ [1]

SCORE
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Continued from previous page

(¢) Farig added a white opaque card in front of the lamp. What would he
Observe about the amount of light detected by the light sensor for materials
D and F? Explain your answer. {2}

datalogger

white opaque

~N

I~

lampp

/N

SCORE

2
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37. Joseph set up an electrical circuit as shown in the diagram below.

(a) What will Joseph observe if bulb Y fuses? Give a reason for your answer.

[1]

(b) Using all the three bulbs, battery and switch, draw a circuit diagram
where the bulbs are rearranged such that they are brighter than the
circuit above. 2]

(c) Joseph observed that the three bulbs became dimmer when he added a
bulb to the circuit. Label the additional bulb with the letter “B” on the
electrical circuit below to indicate where he placed the bulb. 1

SCORE
4
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38. Sally’s teacher wrapped three objects A,Band C zndlwdually with the ends
labelled as shown below.

F G R s{ |w X

Object A Object B Object C

The three objects are iron rod, copper rod and a magnet.

(@) Sally used a bar magnet fo test and found out that Object B is a
magnet. What observations should be made to confirm that object B
is a magnet? ' 1]

(b) Using only the three objects given above, what can Sally do to find out
if object A is an iron rod? 1

SCORE

END OF PAPER






"SCHOOL : RAFFLES GIRLS’ PRIMARY SCHOOL

LEVEL : PRIMARY 5
SUBJECT : SCIENCE
TERM : 2018 SA2
SECTION A

SECTION B
Q26) a) ltis the ovary. It produces feméle reproductive cells and releases the
female reproductive cells to the womb.
b i.Q -
i. X
Q27) a) As the mass of the seed is lésser, the distance travelled by the seed
is further. |

PN

b) Seeds A and B. )

c) She should repeat thé experiment a few times and calculate the
average.

Q28) a) Set-up B and D.

b) Measure the mass of the potted plant at the beginning and the end of

. the week.

c) It is to prevent the water from evaporating and ensuring it is a fair

- test for the water will not escape.




Q29)

a) Part A~ Skull, Part B - ribcage
b) i. to give the body its shape

ii. to protect the organs in the body like the heart and the lungs

Q30) a) The plant cell has a cell wall and large vacuole but an animal cell

does not have both
b) Nucleus.

Q31) | Fish > Gills, Man - lungs

Q32) a) As the breathing rate of the man increases, the heart rate of a man
also increases. _

b) Any activity that is vigorous, more energy is needed at the cellé e}
. the heart will pump faster so more blood: can deliver more oxygen
and digested food to cells for respiration to release more energy.

Q33)

b) The plant only has the water and.food going in one direction where
as the human has water transported with double circulation.

Q34) a) The food that was made by the leaves needs to be transported to all-
parts of the plant but the food-carrying tubes were cut off. Thus the
food was stored there.

b) Both flowers turn blue. The xylem is still intact so blue water
- absorbed by the roots can be still transported.
Q35) a) Salt.

b) i. evaporation

" ii. condensation

c) i. make the flame bi;gger_‘

ii. increase surface area of the container




Q36) a) E. The amount of light detected was zero which shows that it is an
opaque material. '
b) They are made of different materials and might be transparent,
translucent or opaque.
c) Zero lux. Light cannot pass through opaque things and it is
surrounding the material.
Q37) a) The other light bulbs are still up. It is still a closed circuit and allow
electricity to flow through it.
b)
Q38) é) Either end R or end S of object B should repel with one end of the

.magnet to confirm that object B is a magnet.

b) Observe if a magnet is attracted to A.







